4a. ALIGN RING-PIN HOLES AND INSERT (2) RING PIN ON

FSR TBRT-SERIES CABLE RETRACTOR INSTALLATION INSTRUCTIONS
BOTH SIDES OF ASSEMBLY. FOR ADDITIONAL 244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

TAMPER-PROOF INSTALLATION, INSTALL (2) #6-32 x 1/4

LONG PAN HEAD SCREW.
la. ASSEMBLE RETRACTORS & GAP-FILLER BRACKETS

4b. CENTER ADJUSTABLE HANGER AND LOOSEN AS REQUIRED ONTO T6 GATHER BRACKET.

WINGNUT. ALIGN ADJUSTABLE HANGER HOLES
WITH RETRACTOR FLANGE HOLES, ENSURING THE
HANGER IS VERTICAL AS POSSIBLE, AND INSERT
APPROPRIATE-LENGTH CLEVIS PIN. SECURE
CLEVIS PIN WITH HAIR-PIN COTTER.

RETRACTOR s ™

4
\Y

2 9
4c. LIFT RETRACTOR ASSEMBLY TO TAKE UP ALL A 9 0 ),
SLACK AND TIGHTEN HANGER WINGNUT TO ) ) 9 9 2
ENSURE ASSEMBLY WEIGHT IS CARRIED BY THE 9 9 J
TABLE. HANGER NUT CAN BE TIGHTENED FOR ) ) 1),
ADDITIONAL INSTALLATION SECURITY. ) 9 @)
0 g g Q @ @ &
CLEVIS PIN 9 0 g 9
)
g @ 2
(v
(2) RING PIN @ o
BOTH SIDES b ' <
(2) #6 PAN HEAD SCREW FOR \
TAMPER-PROOF INSTALLATION =
BOTH SIDES
#6 FLATHEAD SCREW °
Q ° Q Q :
. #6 PANHEAD SCREW
O o
GAP-FILLER BRACKET
9
Q o /
ADJUSTABLE HANGER NUT ° /
LOCATED ON OPPOSITE SIDE ° /

OF WINGNUT

Nl
SO\

\%

N

S®

SOe®

(2) #6 FLATHEAD SCREW

ISICSISISTSTSTS TS

SECURE CLEVIS

PIN WITH HAIR-PIN

COTTER 43070 LIT1517



1b. FOR 3 OR FEWER RETRACTORS, INSTALL CHASSIS 2. INSTALL ADJUSTABLE HANGER ONTO T6 SHROUD WITH 3. SLIDE RETRACTOR ASSEMBLY UP INTO T6 ASSEMBLY.
SUPPORT BRACKET ONTO RETRACTOR. 4" CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.

ADJUSTABLE HANGER

"l

Y,

I’ A
(S

(

»
-\

' /3

/i

\VA’, '
©OSOeT®S\ \

\\A
\\\

\‘JZ‘
Y

/
\\

(T XX EX NS

T6 SHROUD

T6 ASSEMBLY
RING-PIN HOLE T

s%%%ﬂ? N SECURE 4" CLEVIS PIN
BRACKET WITH HAIR-PIN COTTER

RING-PIN HOLE

(2) #6 FLATHEAD _
SCREW Q °

RETRACTOR ASSEMBLY —/ ® 0

NOTE WINGNUT
LOCATION

UV D




